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ARABIC

( General )
Paper: 6.1
( Indo-Arabic Literature )

Full Marks : 80
Time : 3 hours

' The figures in the margin indicate full marks
for the questions

Answer all questions

Answer any ten of the following questions in
Arabic : 1x10=10

Tl sane oly Losa ol 3 (@)

Cadu¥l Jf sgeil)” wli€ialia 58 0 B)
S L) adis (3 oY Bapail 2L (@
Calys o uals yuo S 0 (@)

Clagia ke i ¥ 5l yaill 5 adil JBL @
" S aly e (0
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(2)

ey ol oo @

Csslash il Sy fenill Jol<H 2l ga Lo ()

dpol (b 500 51" il ilsal 0 0 ()
" " i)

inadl allase ayull sy 2o )

T 9 sblpal 3" ot iy ol 40 5o )
¢ alsill 5 pabuaal

T guill ghuall e guallsel syl 30 5o ()

2. Answer the following questions in your own
Arabic : 2x5=10

oF axs JLiS! ease il il WY G e (@
Olgsd dio JLl ala3 13 Loy alyll S gazll

Caigh o3 bl ge B lile ()

¢ puill gl Jl5 ik (o)

pus) Loy Tasdl) ¢zalas JL.&!m‘e.ui o @
oyl oia 4b cub I S

Sood Luind) yuill 0,5 3L (e)
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(3)

3. Answer any four of the following questions :

(a)

(b)

(c)

@)

(e)

20A/671

5x4=20

Who was Dr. Kamil Kilani? Discuss his

literary contribution in brief.

Write a short biographical note on

ot atla_ic with reference to his

contribution to Arabic literature.

Who was Dr. Mohammad Igbal? Write a
few lines about his contribution to the

Persian and Urdu literature.

What do you mean by ¢l —wa ¥l d3—a?
Describe in brief about the situation
faced by ‘Sadudana’ just after he saw

the big tiger in the case.
Summarize gaigl fuddl in brief.
What is the compiler of rILa_“ i Bl

sl Llhaili? Discuss his contribution

in brief.
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4. Translate any two of the following into

Assamese or English : 10x2=20

[A]

dens ols3 e Gadll e iy lallia Yoy 03] 5l<
olaze¥l 3l 5 coaly (8 Lyalanst Dupas (o8 JLad)
Gun bl ol (3 G Gasl o8 e Slamly il
3 Lo lall Gl 35t € s s sl HiuSly Gy
i) Galaad) polps o Ol DL (0B Ty padl
<plall G353 paed Gstan 9 ¢ el palieds pganlay
wa b gyt g < 48 JS Sl olal b yste
A s JLE s aly  Tadua¥l a¥l 5 Tl

.Gla

[B] |
9 ¢ valds gabie oS glua (B oS Gua
o 4y oW LT L G iall ialpy (u3g)
s 480 — L ad e Bale el 4 cda ol
e silaal oL ells de SIS g e un e o dRons Lo JS
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(5)

e (Nall) jiad <l lia b ol GEy il K55
54 oW duda o g etde Lhalu opal &ia
S olill dine (Y ¢ ol i<y o gaie 6lpd

~asag ¥ e papaie (Qoldh BYE)

[C]

dias 5 ¢ suuall cuall 30 oy adlge L 5
o aVYAT L aly b o oo ole M s
gzgt“i,syuua Byl (b L sl Ly
sdsa¥ 5 Gl g il § G pndl o Tuuslyud
5 Jlasgr I sl 8 LS dlale il e il
Lile oo wo¥ g Egandl 5 dalpall i< ol 1,3
¢ laase gl cudll (fo il 15 o « Jali¥iLa
s 9 o5l 5 2 Gl g das ) aald da g
éﬂ‘;ﬁ»ém‘aiﬂl—ewaumwm

- 2ot daal il
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5. Explain with reference to the context any two
of the following : 10x2=20
3l g lpbay dol <oz pdlal o<y (@)
oty sk Ll b 5 ehpal Gaa i yast
o 9 sy iy CSlad S5 ply « 2l a

.CJYMJ&.\:S“

of Jis " gali, L7 L Jeis g pus T ga)] )
ULJLGBHLUJCW&“(SJJ@M
- olislaall g

el 5 els Mo caigh 0,5 ol ci€ ) @
I gy conan Lug 5 < Lybal jaay cil
vt B Cpopdall Gars e daudgll

Gy gle dual gl Lo Jlayl 0¥ :dao s @)
ol Zalylly ik ol ¢ a3

* % %k
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